9G /976 BWWAD KBHAIOdLHOY]

6€] BOXHUIMIOIAGLIGIr0g0Y 0.LOIRULO)]
"H'I[ 889900 ] ONHUIr QOHHIELILA4.L0-OHdIreudarejn
QUHIIATL()

edoau|7-xdAD) 0 [TIOD AONIN  QUHIKdh £
roxreed

BUdaLIreIXAQ KeHHRAOEUIBALHAY

"1 [Z07 BdoeddY «» BH

BUHRLHII dOoLdAYOdl AheII99 ©H
QUHBE003dL — OTHIJN

hA 913 LHITOEONA ]




idaivesxAg ¥uHLOQRY numaolern veiag

e deaou evsuud — d aut?) hed
" &% M & (edLosoLaut) hedg
95’296  |00°09T [00'00Z |0s‘vwseE |tv'zov [€6'e9t [v896  [szzse [vo'votr [ev‘o8T [vOTS 15TV AWWAD BH BHAY]
ov 008 q‘sT SLYPT |SL6T [£9°9TT |STv v8'L Z0'vS  |€8'0F |€€8TC eLiArodu eHay]
v GZ'0 |6ET 8/'C |€8°0 |€80 €80 1t vE'E &2t IBLRI e T
JIMQ0 BH IhBIIGHE M 0J0LY
651 6€1 6€1 651 651 6€1 6€1 6€1 6€1 6€1 6€1 HA13 08-1r0M 2MQ()
6200 |zZ00'0 |00‘T 0Z0'0 |900'0 |900°0 |900°0 [801STO [#20'0 6000 |[IETO exHAgad 0I0HI0 ¥H 0101
6ET 1dAioy
74 WI9HhMHAMU gavX
Sz'0 19'1 wodexes 5 uep
8LC |€8°0 [€8°0 0€8’0 (T¢ £97 SZ'T  [81°8T WIGHHIIMAL woNovow|
2 BeH¥Odo8L BNHENBURE m..
OIHIW
3 3 2 (3
® = - 5
ey m o W o
(o] (o] >
: 5 s : & Fi o 2, S s 2 S
2 M. — < m._ o = £ W I ©
I o ° () x °
3 = E 3 = 3 o ) =
E z :
- - o
= m o JUHBHOHINWHEB]




